Clarence modification:  This modification is meant to increase throwing distance and to reduce Shoot Clogging.

TOOLS REQUIRED

Drill

.25 Drill bit

16#10-32 screws 5/8” or  ¾” long

32 #10 Flat washers

16 #10 Lock washers

16 10-32 Nuts

4 aluminum pieces 1” x 4” approx 0.09 thick.  Thicker is OK..

6” of 4”wide Belt Baler.    Source: Tractor Supply Co.  Part number 1420009  (sold by the foot, approx $3 a foot)

Small Vice Grips to hold aluminum and Belting while drilling. 

Small wrench and screwdriver for the hardware.

Loctite or Nail polish for the threads.

[image: image1.jpg]


 

The Vise grips on the Right are perfect for this job. They are the smaller, 2” throat version.

[image: image2.jpg]



Most Blowers have 4 Bladed Impellers so that is what I am assuming when I wrote the Quantities above.

Cut the Belting into 4 pieces  1.25” wide.

Drill 4 holes in each piece of aluminum. Centered and Evenly spaced. 

[image: image3.jpg]



Take the Shoot off Snowblower so you can reach down to the Impeller.

Reaching down through the shoot area, lay the Belting on the Blade of the Impeller and then the aluminum over the Belt.


Making a Belt sandwich.

Push the Belting outward toward the Impeller housing until it just touches it. Don’t force it.  The aluminum piece should not be up against the Housing, It should stay in line with the Impeller. Basically the Belting is filling in the distance that the Impeller has to the Housing while the aluminum is just helping to evenly hold the Belting to the impeller. 

Reach in through the Auger area with Vise grips and grip the Belt sandwich so it doesn’t move. Get the vise grip as far in as you can so it can hold this assembly as you drill the far outside hole (the one furthest away from the auger).  Using the predrilled holes as a Pilot hole, drill the furthest hole from the auger all the way through the Impeller. Do this by drilling down through the Shoot area.  The Impeller is going to want to rotate.  You may need to hold it by reaching into the auger area or jamming the Impeller with a piece of wood..  Don’t drill into yourself.

After it is drilled, put a screw and nut on temporarily.  

When the first screw is in place, you can drill what other holes you can get to while the vise-grip is still holding it.  Put the screws in the holes as you drill them so it holds. Then take the Vise-grip off and drill the holes you couldn’t get to.

Now take out each screw, one at a time, and put the Flat washers and lockwashers on loctite and tighten up the hardware.

Screw, flatwasher, put through impeller then put flatwasher , lockwasher and nut.

Rotate the Impeller until you have a clear shot through the Shoot to drill the next impeller blade. 

Complete all 4 Blades.  

Most housings are not perfect, they have overlapping metal in some spots but when you spin up the Auger for the first time, the Belting will melt, tear, or whatever to compensate for this.  It may smell a bit the first time you run the machine. 

BEFORE MODIFICATION                       Gap between Impeller and housing

[image: image4.jpg]



AFTER MODIFICATION                                No more Gap


[image: image5.jpg]



